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1. The following shows graphs of the number of books checked out and returned to the Alexandria Library
during the one year period starting in January 1, 2016. Answer the following questions based on these

graphs. LABEL any lines you draw on the graph with the letter of the
work. Give UNITS with your answers.
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Find the Average Rate of Change in number of books checked out during the months of June,
July and August. Round your answer to the nearest thousand book.
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Find a time when the Overall Rate of Change of materials returned was 120,000 books per month. +kws“¢
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If the library has eight million books, how many books were in the library at the beginning of

October? Lo g F000 — 1660 +$50 = 7140 thousand books

At what time was the Overall Rates of Change of books returned and books checked out the
same?

ta 4.5 months

What is the lowest Overall Rate of Change of books returned? Round your answer

to the nearest
thousand book. f
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2. The picture below shows the Variable Cost of producing handmade leather bound notebooks. The
fixed costs are $15,000. Answer the following questions based on the graph. LABEL any lines you
draw on the graph with the letter of the question so we can follow your work. Give UNITS with _your,
answers. ('
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Variable Cost of Producing Leather Bound Notebooks

108 O ; { i : i 1) f.df" il
900 : J L ; ! : ! e L //
| i l 1 v’:.‘)"y 3 & >
200 - - . i - |- L : /
; X f_.s' | i ;

w 700 — . S A ; ;| — il / d
5 ] ] j > = i —
B A0 ' ' ' i 7 i L Lt L :
5 ‘ ) ; L | iz | -
< ‘2 : H H o { H
?? 500 . » /’f_’ S
§ H
T L ! A

300 N // L

o~
200 e -
/ >l
100 ] / )
0 _
0 5 10 15 20 25 30 35 40
hundreds of
notebooks

(a) What is the Average Cost at 2600 notebooks? Give your answer to the nearest cent. _ Nips OB
Ac(ab)= TCA8) - VCROITFC 'y 600104 28.4S dollars pe
| e v 26 5 noke book-

(b) Assume you sell each notebook for 30 dollars. Graph Total Revenue above.

(c) At what quantity do you have maximum profit? What is the maximum profit? (At what quantity
do you have maximum loss? What is the maximum loss?)

(d) At what quantity do you break even? " o
sup TR=TC = Ve +FC
so wen  TR-YC =150

ok avout 251 hundred books -



3. The following are graphs of Average Cost, Marginal Cost and Average Variable Cost for producing and
selling Koutis. Answer the following questions based on this graph. Label any lines you draw on the
graph with the letter of the question so we can follow your work. Include UNITS with yOur answers.

AVC, AC and MC Graphs for Producing Koutis
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(a) What is the Breakeven Price? _
mC=hC aoour U4 dollass per Kovts

(b) If you sell each Kouti for 6 dollars, at what quantity is the profit maximized?

wt Me=6  ppot 1065 Nunded  Koutis

(c) What is the maximum profit?

(106S) = TR 1065\~ Telloss)
P - lo6Sx b — 1065 x he(106S) a'i»
o Iopodd=hdy= 1ot hundred dollars

(78/0) (d) Approximate the Fixed Cost. o - )—— Ué(q) ;
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4. The Total Cost of producing Things is given by a linear function. It costs 138 dollars to produce 100

things and 198 dollars to produce 150 Things. If you sell each Thing for $3.20, at what quantity do
you make a profit of 500 dollars?
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